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A 9] gro] 1 Bt 2k 212 of & Z1u7t?

D 3.458 + A = 2.66 @ 6744+ A =562
@38.34 A =426 @ 25568 + A = 7.52

® 575+A =125

U= 711 Hop 210 52 R0l 2| = R A- YT
weba @) 38.34 + A = 42.6 9| 4] 42.6 > 38.34 0|22 A 2] LS
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9] 340 mLE°] Q1= HA 27|17 T2+
goldy A4 Eo]7F0.54 L7} = d<5UTh

em?® JY7F?
» = cm®
> H™EH: 40cm®

B

0.541L = 540 mL,
SOl E9] & 540 — 340 = 200(mL)
< 5709 F1 1 200( mL)

T 1702] Fo] 1 200 + 5 = 40(mL)
w2hA 40 mL = 40 cm?
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o, (W A=t 7tz Aol Bzt 9 Utk (h), (h I
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(Ur)J Hol= O x 4x Ox 90|22

[} ox0x9.[ [ J=Ox Ox 3x 3, ]=Ox3
(7h 9 E4¢] Hol&=

Bx O+ 12x O)x 2=30x O

(Hh o] 89 4ol

(4x O+ 9x Q)% 2 = 26x0O

ZH e (W EHQ Hl=30:26 = 15: 139Yth




